Y0 dadia duy i Jilae s

0 o8, Jsdl Ja
gig _ (2 RO mABIXIT ) oo
= - =L X1 k
= oy e
T el Jd s
_ Bllg  (BOXI07LTP(0.406 mpRteoxtoc) s axl0 2 k
LT 260 il
Voaiy Jisadl ds
FZegr — E «F
. = S _ O>< 10~ NS
= B oSS A T F

ZI O >< E O rasf=

A ?g ) d\ j.uuj‘ d;

g2V
m B2

S=d- 4 (2, gy

1 [2vm n, BV g [y,

Thus, r= 4 /[~——and, — = 7 =/
’ B\/ q fo 4 j2Vmy Y My
BY ¢

The radius of the isotope with a mass of 22 proton masses, then, is
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= 0.056 m
The difference in the radii is ry — g = 0.056 m — 0.053 m = 0.003 m
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